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OO OO0

e  SUBROUTINE /Cal_lin_stiff M2

® Model No.2 3

subroutine Cal_lin_stiff_M2(Member,Element,ak _linear)
implicit real*8(A-H,0-2)

include "submain.h"

record / member_s2 / Member

record / element_s2 / Element

dimension ak_linear(12,12)

data BI_MODEL_NUMBER/11/

data RO_MODEL_NUMBER/12/

do i=1,12
do j=1,12
ak_linear(j,i) = 0.0




end do
end do
ak=Element.Aku
ak_linear(1,1)= ak
ak_linear(1,7)=-ak
ak_linear(7,7)= ak
ak_linear(7,1)=-ak
if (Element.nm_type.eq.BI_MODEL_NUMBER) then
ak=Element.AK_1*Member.alength
else if(Element.nm_type.eq.RO_MODEL_NUMBER) then
ak=Element.AK_1/Member.alength
else
ak=Element.AK 1
endif
ak_linear(2,2)= ak
ak_linear(2,8)=-ak
ak_linear(8,8)= ak
ak_linear(8,2)=-ak
ak_linear(3,3)= ak
ak_linear(3,9)=-ak
ak_linear(9,9)= ak
ak_linear(9,3)=-ak

Member .AKv_tan=ak I Member.AKv_tan=Element.AK 1
Member .AKw_tan=ak I Member.AKw_tan=Element.AK 1
Member . istat_v=0

Member . istat_w=0

return

end

OO 0O 00

(@]

®  SUBROUTINE /Cal_check_stiff M2

® Model No.2 3

subroutine Cal_check_stiff_M2(Member,Element,RO_work,vv,vpp)
implicit real*8(A-H,0-2)

include "submain.h"

include "submainx.h"

record / member_s2 / Member

record / element_s2 / Element

record / RO_work_s / RO_work

dimension w(12),vpp(12),R0_work(*)

® 3 No.2

No_rireki=Element.nm_type
if(No_rireki/10.eq.0) then
goto(5,10,20,30,40,50,60),No_rireki+1
continue

call Takeda_TriLiner(Member,Element,vv,vpp)
goto 999

110




10

continue

20

call Mesing_TriLiner(Member,Element,vv,vpp)
goto 999
continue

30

call DirecMax_TriLiner(Member,Element,vv,vpp)
goto 999
continue

40

call Takeda_TriLiner(Member,Element,vv,vpp)
goto 999
continue

50

if(Member.istat_v.eq.0.and.Member.istat_w.eq.0) then
Element.AK _2=Element.AK 1
Element.Q 2 =Element.Q_1

endif

call Mesing_TriLiner(Member,Element,vv,vpp)

goto 999

continue

60

call S_slip_bilinear_s(Member,Element,vv,vpp)
goto 999
continue

101

call S_slip_woodpanel (Member,Element,vv,vpp)
goto 999

elseif(No_rireki/10.eq.1) then
goto(101,102),No_rireki - 10

continue

102

mro=Element.n_section(1)

call Modify Bi_Linerl(Member,Element,RO_work(mro),vv,vpp)
goto 999

continue

999

mro=Element.n_section(1)

call Modify_RO1(Member,Element,RO_work(mro),vv,vpp)
goto 999

endif

continue

return

end
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Mesing_TriLiner()

Ur,Qr
2 ( 2) 3 ( 3)

12 21 3
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OO OO0

(@]

(@]

® SUBROUTINE /Mesing_TriLiner

® Mesing TriLiner

subroutine Mesing_TriLiner(Member,Element,vv,vpp)
implicit real*8(V)

include "submain.h"

record / member_s2_Mesing / Member

record / element_s2 / Element

integer i
dimension wv(12)
dimension vpp(12)
real*8 du
real*8 Up

if(Member.istat(l).eq.0.and.Member.istat(2).eq.0) then
call Initial_Mesing_TriLiner(Element,Member)

return

endif

do i=1,2
dU=w (7+i)-vw(1+i) !

N -




Up=vpp(7+i)-vpp(1+i) !
call Cal _Mesing TriLiner(i, Element, Member, dU, Up)

14
end do
return
end
©
€ ®  SUBROUTINE Cal_Mesing_TrilLiner
©
© ® n
©
subroutine Cal_Mesing_TriLiner(id,Element,Member,dU,Up)
include "submain.h"
record / member_s2_Mesing / Member
record / element_s2 / Element
integer id ! ID
real*8 du !
real*8 Up !
real*8 Qp !
real*8 U !
real*8 Q !
real*8 tmp(10) !
integer iflag !
U=Up+dUu 15
if( dU*real (Member.istat(id)).1t.0.0 ) then 16
if( iabs(Member.istat(id)).eq.10.or. 17
* iabs(Member.istat(id)).eq.12.or.
* iabs(Member.istat(id)).eq.21.or.
* iabs(Member.istat(id)).eq.13.0r.
* iabs(Member.istat(id)).eq.31) then
tmp(1) = Member.Uo(id) 18
tmp(2) = Member.Qo(id)
Member.Uo(id) = Member.Ur(id)
Member.Qo(id) = Member.Qr(id)
Member.Ur(id) = tmp(1)
Member.Qr(id) = tmp(2)
if(iabs(Member.istat(id)).eq.10) then 19
Member.istat(id) = -1 * Member.istat(id)
else if(iabs(Member.istat(id)).eq.12) then 110
Member.istat(id) = -21 * IFlag_MT(Member.istat(id))
else if(iabs(Member.istat(id)).eq.21) then 111
Member.istat(id) = -12 * IFlag_MT(Member.istat(id))
else if(iabs(Member.istat(id)).eq.13) then 112
Member.istat(id) = -31 * IFlag_MT(Member.istat(id))
else if(iabs(Member.istat(id)).eq.31) then 113
Member.istat(id) = -13 * IFlag_MT(Member.istat(id))
endif
else 114
1
Qp=CalQ_Mesing_TriLiner(id,Element,Member,Up) 115




endif
return
endif

Member .Ur(id)=Up
Member.Qr(id)=Qp
if(iabs(Member.istat(id)).eq.2) then
Member . istat(id)=-12*IFlag_MT(Member.istat(id))

Member.UoN(id) = Member.Uo(id)
Member.QoN(id) = Member.Qo(id)
Member.UoP(id) = Member.Uo(id)
+2.0*Element.U_2*IFlag_MT(Member.istat(id))
Member.QoP(id) = Member.Qo(id)
+2.0*Element.Q_2*IFlag_MT(Member.istat(id))
else if(iabs(Member.istat(id)).eq.3) then
Member . istat(id)=-13*IFlag_MT(Member.istat(id))
endif
Member.Uo(id)
=Up+2.0*Element.U_1*IFlag_MT(Member.istat(id))
Member.Qo(id)
=Qp+2.0*Element.Q_1*IFlag_MT(Member.istat(id))
Member.AK_tan(id) = Element.AK 1

if( iabs(Member.istat(id)).ne.3 ) then
if( Member.istat(id).gt.0 ) then

else

endif

if( Member.Uo(id).It.U ) then
iflag=1

else
iflag=0

endif

if( Member.Uo(id).gt.U ) then
iflag=1

else
iflag=0

endif

if( iflag.eq.1 ) then

if( iabs(Member.istat(id)).eq.10 ) then
Member.AK_tan(id)=Element.AK_2
Member.istat(id) = 2 * IFlag_MT(Member.istat(id))
Member.Ur(id)=Element.U_1 * IFlag_MT(Member.istat(id))
Member.Qr(id)=Element.Q_1 * IFlag_MT(Member.istat(id))
Member.Uo(id)=Element.U_2 * IFlag_MT(Member.istat(id))
Member.Qo(id)=Element.Q 2 * IFlag_MT(Member.istat(id))
else if( iabs(Member.istat(id)).eq.2 ) then
Member .AK_tan(id)=Element.AK_3
Member .Ur(id)=Member.Uo(id)
Member .Qr(id)=Member.Qo(id)

Member . istat(id)=3 * IFlag_MT(Member.istat(id))
else if( 1abs(Member.istat(id)).eq.13 ) then

tmp(1) = Member.Uo(id)

tmp(2) = Member.Qo(id)

116

119

120

a1
122

123

1 24
125
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127




Member .Uo(id)=Member.Ur(id) 128

* +2.0*Element.U_2*IFlag_MT(Member.istat(id))

Member.Qo(id)=Member.Qr(id)

* +2.0*Element.Q_2*IFlag_MT(Member.istat(id))

Member .Ur(id)=tmp(1)
Member.Qr(id)=tmp(2)
Member.AK_tan(id) = Element.AK 2
Member.istat(id) = 2*IFlag_MT(Member.istat(id))
else if( iabs(Member.istat(id)).eq.31 ) then 129
Member .Ur(id)=Member.Uo(id)
Member.Qr(id)=Member.Qo(id)
Member.AK_tan(id) = Element.AK 3
Member.istat(id) = 3*IFlag_MT(Member.istat(id))
else if( iabs(Member.istat(id)).eq.12 ) then 130
Member .Ur(id)=Member.Uo(id)
Member.Qr(id)=Member.Qo(id)
Member .Uo(id)=Member.UoP(id)
Member.Qo(id)=Member.QoP(id)
Member.AK_tan(id) = Element.AK 2
Member.istat(id) = 2*IFlag_MT(Member.istat(id))
else if( iabs(Member.istat(id)).eq.21 ) then 131
Member .Ur(id)=Member.Uo(id)
Member.Qr(id)=Member.Qo(id)
Member .Uo(id)=Member.UoN(id)
Member.Qo(id)=Member.QoN(id)
Member.AK_tan(id) = Element.AK 2
Member.istat(id) = 2*IFlag_MT(Member.istat(id))

endif
Member.stress(1+id)
* =CalQ_Mesing_TriLiner(id,Element,Member,U) 132
endif
endif
return
end

O O OO0

® real*8 function CalQ_Mesing_TriLiner

e U Q

real*8 function CalQ Mesing_TriLiner(id,Element,Member,U)
include "submain.h"
record / member_s2_Mesing / Member

record / element_s2 / Element

integer id ! 1D

real*8 U !

real*8 Q !

Q=Member.AK_tan(id)*(U-Member.Ur(id)) +Member.Qr(id) 1 33
CalQ_Mesing_TriLiner=Q 1 34
return

end




OO OO0

® integer function IFlag Mesing_TriLiner

integer function IFlag_MT(n)

Member .QoN(i) =-Element.Q_2

integer n
if( n.eq.0 ) then 135
IFlag_MT=0
else if( n.gt.0 ) then 136
IFlag_MT=1
Else 1 37
IFlag_MT=-1
endif
return
end
©
€ ® SUBROUTINE Initial_Mesing_TrilLiner
©
© e 1
©
subroutine Initial_Mesing_TriLiner(Element,Member)
include "submain.h"
record / member_s2_Mesing / Member
record / element_s2 / Element
integer i !
lwrite(75,*) " Mesing_TriLiner initial set on "
if(Element.AK 1.1e.0.0) then 1 38
Element.AK_1=1.0
endif
if(Element.AK 2.1e.0.0) then I 39
Element.AK 2=Element.AK 1
endif
if(Element.Q _2.le.Element.Q 1) then 1 40
Element.Q 2=Element.Q 1
endif
Element.U_1=Element.Q_1/Element.AK_1 141
Element.U_2=(Element.Q _2-Element.Q_1)/Element.AK 2
* +Element.U_1
do i=1,2 1 42
Member.istat(i) = 10 1 43
Member.AK_tan(i) = Element.AK_1 1 44
Member.Uo(i) = Element.U_1 1 45
Member.Qo(i) = Element.Q_1 I 46
Member _.Ur (1) =-Element.U_1 1 47
Member.Qr(i) =-Element.Q_1 I 48
Member .UoN(1) =-Element.U_2 I 49
1 50




Member .UoP (i) = Element.U_2 I 51

Member .Qop(i) = Element.Q_2 1 52

end do

return
end
1 (v w )
0
2
Initial_MesingTriLiner()
3 (v w )
4 Cal_MesingTriLiner()
5
6
7 10 12 21 13 31
8 1 tmp
1

9 10,-10 1
10. 12,-12 21
11. 21,-21 12
12. 13,-13 31
13. 31,-31 13
14. 1 2 3
15. Cal_Mesing Triliner()

1
(Up,Qp) Member.Ur(id) Member.Qr(id)




2 2-12

16. 2,-2
12
17. Member.UoN(id)
Member.QoN(id)
18. Menmber .UoP(id)
Member.QoP(id)
19. 3,-3
13
20. 1,-1
1
2
21.
3 2 10(1) 12 21
13 31 3
22.
Member .Uo(id)
iflag=1
iflag=0
23.
Member .Uo(id)
iflag=1
iflag=0
24. 1( )
25. 10,-10 2
2 1
1
2
26. 2,-2 3
3
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27. 13,-13 1
tmp
28. 2 2
2 2
29. 31,-31
3
30. 12,-12
Menmber .UoP(id)
Member.QoP(id) 2
2
31. 21,-21
Menmber .UoN(id)
Member.QoN(id) 2
2
32. CalQ_Mesing_TriLiner()
33. Q
Q=tan(U-Ur)+Qr
34. Q CalQ_Mesing_TriLiner
35. n n=0
IFlag_MT=0
36.n IFlag_MT=1
37.n IFlag_MT=-1
38.
1.0
39. 0 2
40. 2
2 1
41, 2-1 1 ul 2 u2
Element
42. (1=v ,2=W ) Member




43. 10
44.

45 _Member .Uo(1)
46 _Member.Qo(i)
47 Member .Ur (i)
48 Member.Qr (i)
49 _Member .UoN(1)
50.Member.QoN(1)
51.Member.UoP(1)
52 .Member.Qop(1)
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2. Uy
3. Uy
DirecMax_TriLiner()
3
2 2 3
4
©
€ ® SUBROUTINE /DirecMax_TrilLiner
©
© ® Direc. Max TriLiner
©
subroutine DirecMax_TriLiner(Member,Element,vv,vpp)
implicit real*8(V)
include "submain.h"
record / member_s2 DirecMax / Member
record / element_s2 / Element
integer i !
dimension w(12) !
dimension vpp(12) !
real*8 du !
real*8 Up !
©
c
c

structure / member_s2 DirecMax /
integer nm_element !
integer element_type
integer n_model
integer n_model_type
integer n_element_type
integer analysis_3D
integer nm_so

integer nm_dll_element
integer nm_point(2)

0:3D 1:2D(x-z) 2:2D(y-z)

DLL

DLL




(@]

integer irest(12) !

listat l:y
integer istat(2) ! (&)
integer nm_analysis !
integer nm_group !
integer nm_local_coord(2) !
integer nm_damp !
real*8 alength !
real*8 i_rigid_length LI
real*8 j_rigid_length LI
real*8 i_shear_G LI
real*8 j shear G LI
real*8 rot x !
real*8  force(12) !
real*8  stress(6) !
I AK _tan 1y
real*8 AK tan(2) ! @)
! 1y

real*8 Uo(2)
real*8 Qo(2)
real*8 Ur(2)
real*8 Qr(2)
real*8  UmaxP(2)
real*8  QmaxP(2)
real*8  UmaxM(2)
real*8  QmaxM(2)
real*8  dmw(4)
integer d_stat(3)
real*8 an_wvv(10)
real*8 an_ww(10)
end structure

(istat=1,4)
(istat=1,4)

O @57 6

if(Member.istat(l).eq.0.and.Member.istat(2).eq.0) then
call Initial DirecMax_TriLiner(Element,Member)

return
endif
n
do i=1,2
dU=vv(7+i)-vv(1+i) !
Up=vpp(7+1)-vpp(L+i) !

call Cal DirecMax_TriLiner(i, Element, Member, dU, Up)
end do

return

end

OO OO0

®  SUBROUTINE Initial_DirecMax_TriLiner

e 1

subroutine Initial_DirecMax_TriLiner(Element,Member)

N -




include "submain.h"
record / member_s2 DirecMax / Member

record / element_s2 / Element
integer i !
©
if(Element.AK 1.1e.0.0) then 15
Element.AK_1=1.0
endif
if(Element.AK _2.1e.0.0) then
Element.AK _2=Element.AK 1
endif
if(Element.Q_2.le.Element.Q_1) then 16
Element.Q 2=Element.Q 1
endif
do i=1,2 17
Member.istat(i) =1 !
Member.AK_tan(i) = Element.AK 1 !
Member .Uo(1) = Element.Q_1/Element.AK 1 ! 4
Member.Qo(1) = Element.Q_1 ! 4
Member .Ur (1) =-Element.Q_1/Element.AK 1 ! 4
Member.Qr(i) =-Element.Q_1 ! 4
Member.UmaxP(i) = Element.Q_1/Element.AK_1 !
Member.QmaxP(i) = Element.Q 1 !
Member.UmaxM(i) =-Element.Q_1/Element.AK_1 !
Member.QmaxM(i) =-Element.Q 1 !
end do
Element.U_1=Element.Q_1/Element.AK_1 18
Element.U_2=(Element.Q 2-Element.Q_1)/Element.AK 2
* +Element.U_1
return
end
©
€ ® SUBROUTINE Cal _DirecMax_TriLiner
©
© ® n
©
subroutine Cal_DirecMax_TriLiner(id,Element,Member,dU,Up)
include "submain.h"
record / member_s2 DirecMax / Member
record / element_s2 / Element
integer id ! 1D
real*8 du !
real*8 Up !
real*8 Qp !
real*8 U !
real*8 Q !
real*8 tmp(10) !
integer iflag !
©
U=Up+dU 19




*

if( dU*real (Member.istat(id)).I1t.0.0 ) then
tmp(1)=Member.Uo(id)
tmp(2)=Member.Qo(id)
if( iabs(Member.istat(id)).eq.1l.or.
iabs(Member.istat(id)).eq.4 ) then
Member .Uo(id)=Member.Ur(id)
Member .Qo(id)=Member.Qr(id)
Member .Ur(id)=tmp(1)
Member .Qr(id)=tmp(2)
Member . istat(id)=-1*Member.istat(id)
else

Qp=CalQ_DirecMax_TriLiner(id,Element,Member,Up)

Member .Ur(id)=Up

Member.Qr(id)=Qp

if( Member.istat(id).gt.0 ) then
Member .Uo(id)=Member .UmaxM(id)
Member.Qo(id)=Member .QmaxM(id)
Member . istat(id)=-4

else
Member .Uo(id)=Member .UmaxP(id)
Member.Qo(id)=Member.QmaxP(id)
Member . istat(id)=4

endif

Member.AK_tan(id) = (Member.Qo(id) - Member.Qr(id))
/ (Member.Uo(id) - Member.Ur(id))

endif
return
endif

if( iabs(Member.istat(id)).ne.3 ) then

if( Member.istat(id).gt.0 ) then
if( Member.Uo(id).lt.U ) then
iflag=1
else
iflag=0
endif
else
if( Member.Uo(id).gt.U ) then
iflag=1
else
iflag=0
endif
endif

if( iflag.eq.1 ) then
if( iabs(Member.istat(id)).eq.1 ) then
Member.AK_tan(id)=Element.AK_2
if ( Member.istat(id).gt.0 ) then
Member . istat(id)= 2
Member.Uo(id) = Element.U_2
Member.Qo(id) = Element.Q_2
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119

120
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*

else
Member . istat(id)=-2
Member.Uo(id) =-Element.U_2
Member.Qo(id) =-Element.Q 2
endif
else if( iabs(Member.istat(id)).eq.2 ) then
Member.AK_tan(id)=Element.AK 3
if ( Member.istat(id).gt.0 ) then
Member . istat(id)=3
else
Member . istat(id)=-3
endif
else
if( dabs(U).lt.dabs(Element.U_2) ) then
Member.AK_tan(id)=Element.AK_2
if ( Member.istat(id).gt.0 ) then
Member . istat(id)= 2
Member.Uo(id) = Element.U_2
Member.Qo(id) = Element.Q 2
else
Member . istat(id)=-2
Member.Uo(id) =-Element.U_2
Member.Qo(id) =-Element.Q 2
endif
else
Member.AK_tan(id)=Element.AK_3
if ( Member.istat(id).gt.0 ) then
Member . istat(id)=3
else
Member . istat(id)=-3
endif
endif
endif
Member.stress(1+id)
=CalQ_DirecMax_TriLiner(id,Element,Member,U)
endif
endif

Q=CalQ_DirecMax_TriLiner(id,Element,Member,U)

if( Member.istat(id).gt.0 ) then
if( Member.UmaxP(id).lIt.U ) then
Member.UmaxP(id) = U
Member.QmaxP(id) = Q
endif
else
if( Member._.UmaxM(id).gt.U ) then
Member .UmaxM(id) = U
Member.QmaxM(id) = Q
endif
endif
return
end
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OO OO0

@ real*8 function CalQ DirecMax_TriLiner

e U Q

real*8 function CalQ DirecMax_TriLiner(id,Element,Member,U)
include "submain.h"
record / member_s2 DirecMax / Member

record / element_s2 / Element
integer id ! 1D
real*8 U !
real*8 Q !
©
if( iabs(Member.istat(id)).eq.l) then 141
Q=Element.AK_1*U
else if( iabs(Member.istat(id)).eq.2) then 1 42
if( Member.istat(id).gt.0 ) then 1 43
Q=Element.AK_2*(U-Element.U_1) +Element.Q 1
else 1 44
Q=Element.AK_2*(U+Element.U_1) -Element.Q 1
endif
else if( iabs(Member.istat(id)).eq.3) then 1 45
if( Member.istat(id).gt.0 ) then 1 46
Q=Element.AK_3*(U-Element.U_2) +Element.Q 2
else 1 47
Q=Element.AK_3*(U+Element.U_2) -Element.Q 2
endif
else 1 48
Q=Member .AK_tan(id)*(U-Member.Ur(id)) +Member.Qr(id)
endif
CalQ_DirecMax_TriLiner=Q 1 49
return
end
1
2
Initial_DirecMax_TriLiner()
3
4 Cal_DirecMax_TriLiner()
5
1.0
6 1 2
1
7 Member
8 2-2 1 ul 2 uz2




2 2-21

Element

10.
1 tmp

11. 1 4
12.
13. 2 3

14. Cal_DirecMax_TriLiner()

15 (Up,Qp) Member _Ur(id) Member.Qr(id)

16.

17. 4

18.

Member . AK_tan(id)

19.

20.
Member _Uo(id)
iflag=1
iflag=0
21.
Member.Uo(id)
iflag=1
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iflag=0
22. 1

23. 1 -1 2

24. 2

25. -2

26. 2 -2 3

27. 3

28 -3
29. 1 4

30. U 2 Element.U 2

31. 2

32. -2

3

33. U 2 Element.U 2

34. 3

35. -3

36. CalQ_DirecMax_TriLiner()

37.

38.
39.
40.
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41. CalQ_DirecMax_TriLiner()
2-2
42. 2
43. 2 2 Q
44. -2 2 Q
45. 3
46. 3 3 Q
47. -3 3 Q
48. -4
Q
49 Q CalQ _DirecMax_TriLiner
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Q1 1
Q2 2
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K2 2
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0
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© ® SUBROUTINE /Takeda_TriLiner
©
© ® Takeda DTrilLiner
©
subroutine Takeda_TriLiner(Member,Element,vv,vpp)
implicit real*8(V)
include "submain.h"
record / member_s2_Takeda / Member
record / element_s2 / Element
integer i !
dimension w(12) !
dimension vpp(12) !
real*8 du !
real*8 Up !
C
©
if(Member.istat(l).eq.0.and.Member.istat(2).eq.0) then LI
call Initial_Takeda_TriLiner(Element,Member) 12
return
endif
C
¢ n
do i=1,2 13
dU=wv(7+i)-vw(1+i) !
Up=vpp(7+1)-vpp(1+1) !
call Cal_Takeda TriLiner(i, Element, Member, dU, Up) 14
end do
return
end
©
€ ® SUBROUTINE Cal_Takeda TrilLiner
©
© ® 1
©

subroutine Cal_Takeda TriLiner(id,Element,Member,dU,Up)

include "submain.h"
record / member_s2_Takeda / Member

record / element_s2 / Element

integer id !

real*8 du !

real*8 Up !

real*8 Qp !

real*8 U !
1

real*8 Q




(@]

(@]

(@]

real*8 tmp(10)
integer iflag
U=Up+dU

L T

if( dU*real (Member.istat(id)).I1t.0.0 ) then
tmp(1)=Member.Uo(id)
tmp(2)=Member.Qo(id)
istat(id)).eq.1l.or.
istat(id)).eq.4.or.
istat(id)).eq.6.or.
istat(id)).eq.8.or.

if( iabs(Member.
iabs(Member.
iabs(Member.
iabs(Member.
iabs(Member.

istat(id)).eq.12 )

Member .Uo(id)=Member.Ur(id)
Member .Qo(id)=Member.Qr(id)
Member .Ur(id)=tmp(1)
Member .Qr(id)=tmp(2)
Member . istat(id)=-1*Member.istat(id)

else if( i1abs(Member.istat(id)).eq.1011 ) then
Member .Uo(id)=Member.Ur(id)
Member .Qo(id)=Member.Qr(id)
Member .Ur(id)=tmp(1)
Member .Qr(id)=tmp(2)
if(Member.istat(id).gt.0) then

Member . istat(id)=-1003

else

Member . istat(id)= 1003

endif

else if( iabs(Member.istat(id)).eq
Member .Uo(id)=Member.Ur(id)
Member .Qo(id)=Member.Qr(id)
Member .Ur(id)=tmp(1)
Member .Qr(id)=tmp(2)
if(Member.istat(id).gt.0) then
Member . istat(id)=-1011

else

Member.istat(id)= 1011

endif

else if( iabs(Member.istat(id)).eq
iabs(Member.istat(id)).eq
iabs(Member.istat(id)).eq

then

.1003 ) then

.2.0r.
.5.or.
.11 ) then

Qp=CalQ_Takeda_TriLiner(id,Element,Member,Up)

Member .Ur(id)=Up
Member.Qr(id)=Qp

if( iabs(Member.istat(id)).eq.2 ) then
if( Member.istat(id).gt.0 ) then

19
110




(@]

tmp(3) = (-Element.Q_1 - Qp) /7 (-Element.U_1 - Up)
if( tmp(3).1t.Member.KoM(id).and.
Member.UmaxP(id).It.Element.U_2 ) then
Member.AK_tan(id) = tmp(3)

Member .KoM(id) = tmp(3)
else
Member.AK_tan(id) = Member.KoM(id)
endif
Member . istat(id)=-4
else

tmp(3) = (Element.Q_1 - Qp) /7 (Element.U_1 - Up)
if( tmp(3).1t.Member.KoP(id).and.

* Member .UmaxM(id).gt.-Element.U_2 ) then
Member.AK_tan(id) = tmp(3)
Member .KoP(id) = tmp(3)
else
Member.AK_tan(id) = Member.KoP(id)
endif

Member . istat(id)=4
endif
else if( iabs(Member.istat(id)).eq.5 ) then
if( Member.istat(id).gt.0 ) then
Member.AK_tan(id) = Member.KoM(id)
Member . istat(id) -6
else
Member.AK_tan(id)
Member . istat(id)
endif
else if( iabs(Member.istat(id)).eq.11) then
if( Member.istat(id).gt.0 ) then
Member.AK_tan(id)=(Element.Q_2+Element.Q_ 1)
/(Element.U_2+Element.U_1)
*dabs(Member.UmaxP(id)/Element.U_2)
**Element.arf
Member .KoM(id)=Member.AK_tan(id)
Member.istat(id) = -12
else
Member.AK_tan(id)=(Element.Q_2+Element.Q 1)
/(Element.U_2+Element.U_1)
*dabs(Member.UmaxM(id)/Element.U_2)
**Element.arf
Member .KoP(id)=Member.AK_tan(id)
Member.istat(id) = 12
endif

Member .KoP(id)
6

endif
Member.Uo(id)=Up - Qp/Member.AK_tan(id)
Member.Qo(id)=0.0
else if(iabs(Member.istat(id)).eq.3) then

Qp=CalQ_Takeda_TriLiner(id,Element,Member,Up)
Member .Ur(id)=Up
Member.Qr(id)=Qp

122

123

1 24

125
1 26

I 27

128

129
130

135

I 36

137
1 38




C
C
c

if( Member.istat(id).gt.0 ) then
Member.AK_tan(id)=(Element.Q 2+Element.Q 1)
/(Element.U_2+Element.U_1)
*dabs(Member .UmaxP(id)/Element.U_2)
**Element.arf
Member .KoM(id)=Member.AK_tan(id)
if(dabs(Member.UmaxM(id)).le.Element.U_1) then
Member.istat(id)=-1011
Member.Qo(id) =-Element.Q_1
Member.Uo(id) =Up-(Qp+Element.Q_1)
* /Member .AK_tan(id)
else
Member . istat(id)=-8
Member.Uo(id)=Up - Qp/Member.AK_tan(id)
Member.Qo(id)=0.0

endif
else
Member.AK_tan(id)=(Element.Q_2+Element.Q_ 1)
/(Element.U_2+Element.U_1)
*dabs(Member . UmaxM(id)/Element.U_2)
**Element.arf
Member .KoP(id)=Member.AK_tan(id)
if(Member.UmaxP(id).le.Element.U_1) then
Member.istat(id)=1011
Member.Qo(id) =Element.Q_1
Member.Uo(id) =Up-(Qp-Element.Q_1)
* /Member .AK_tan(id)
else
Member . istat(id)=8
Member.Uo(id)=Up - Qp/Member.AK_tan(id)
Member.Qo(id)=0.0
endif
endif
endif
return
endif

if( iabs(Member.istat(id)).ne.3 ) then
if( Member.istat(id).gt.0 ) then
if( Member.Uo(id).lt.U ) then

iflag=1
else
iflag=0
endif
else
if( Member.Uo(id).gt.U ) then
iflag=1
else
iflag=0
endif
endif

if( iflag.eq.1 ) then

139

140
141

1 42

1 43

1 44
1 45

1 46

147
148

I 49

150




Member .Ur(id)=Member.Uo(id)
Member .Qr(id)=Member.Qo(id)
if( iabs(Member.istat(id)).eq.1l ) then
Member.AK_tan(id)=Element.AK_2
if ( Member.istat(id).gt.0 ) then
Member.istat(id)= 2
Member.Uo(id) = Element.U_2
Member.Qo(id) = Element.Q_2
Else
Member . istat(id)=-2
Member.Uo(id) =-Element.U_2
Member.Qo(id) =-Element.Q 2
endif
else if( iabs(Member.istat(id)).eq.2.or.
iabs(Member.istat(id)).eq.11 ) then
Member.AK_tan(id)=Element.AK_3
if ( Member.istat(id).gt.0 ) then
Member . istat(id)=3

else
Member . istat(id)=-3
endif
else if( iabs(Member.istat(id)).eq.4.or.
iabs(Member.istat(id)).eq.6 ) then
if( iabs(Member.istat(id)).eq.4.and.
Member.Qo(id).ne.0.0 ) then
Member.AK_tan(id)=Element.AK_2
if ( Member.istat(id).gt.0 ) then
Member . istat(id)= 2
Member.Uo(id) = Element.U_2
Member.Qo(id) = Element.Q 2

else
Member . istat(id)=-2
Member.Uo(id) =-Element.U_2
Member.Qo(id) =-Element.Q 2

endif

else

if ( Member.istat(id).gt.0 ) then

Member.istat(id)= 5

Member .Uo(id) Member .UmaxP(id)
Member.Qo(id) Member .QmaxP(id)

else

Member . istat(id)
Member.Uo(id)
Member.Qo(id)

-5
Member .UmaxM(id)
Member .QmaxM(id)

endif
Member.AK_tan(id)=(Member.Qo(id) - Member.Qr(id))
/(Member .Uo(id) - Member.Ur(id))
endif
else if( i1abs(Member.istat(id)).eq-8 ) then
if( Member.Qo(id).ne.0.0 ) then
Member .AK_tan(id)=Element.AK_3
if ( Member.istat(id).gt.0 ) then
Member . istat(id)= 3
else

151

I 52

I 53

154

I 56

I 58

I 59

I 60




endif

endif
else

else

endif

else

else

endif

Member . istat(id)=-3

if ( Member.istat(id).gt.0 ) then
Member.istat(id)= 5
Member .Uo(id) Member .UmaxP(id)
Member.Qo(id) Member .QmaxP(id)

5
Member .UmaxM(id)
Member .QmaxM(id)

Member . istat(id)=
Member .Uo(id)
Member.Qo(id)

168
I 69

170

Member.AK_tan(id)=(Member.Qo(id) - Member.Qr(id))
/(Member.Uo(id) - Member.Ur(id))

if( iabs(Member.istat(id)).eq.1011 ) then
if(Member.istat(id).gt.0) then
Member . istat(id)=11

Member.Uo(id)=Element.U_2
Member.Qo(id)=Element.Q 2

Member . istat(id)=-11

Member .Uo(id)=-Element.U_2
Member.Qo(id)=-Element.Q 2

Member .AK_tan(id)=(Member.Qo(id) - Member.Qr(id))
/(Member.Uo(id) - Member.Ur(id))

else if( iabs(Member.istat(id)).eq.1003 ) then
Member.AK_tan(id)=Element.AK_3
if(Member.istat(id).gt.0) then

endif

else

else

else

endif

Member . istat(id)=3
Member . istat(id)=-3

if( iabs(Member.istat(id)).eq.5 ) then

if(dabs(Member.Ur(id)).1t.Element.U_2) then
Member.AK_tan(id)=Element.AK_2

if ( Member.istat(id).gt.0 ) then

Member . istat(id)= 2

Member.Uo(id) = Element.U_2

Member.Qo(id) = Element.Q_2

Member . istat(id)=-2

Member.Uo(id) =-Element.U_2

Member.Qo(id) =-Element.Q_2
else

Member.AK_tan(id)=Element.AK_3
if ( Member.istat(id).gt.0 ) then
Member . istat(id)= 3

else

Member . istat(id)=-3

171
172

173

174

175

176




(@]

(@]

endif
endif
else if( iabs(Member.istat(id)).eq.12 ) then
if( Member.Qo(id).ne.0.0 ) then
if( Member.istat(id).gt.0) then
Member . istat(id)=11
Member.Uo(id)=Element.U_2
Member.Qo(id)=Element.Q 2
else
Member . istat(id)=-11
Member.Uo(id)=-Element.U_2
Member.Qo(id)=-Element.Q_2
endif
Member.AK_tan(id)=(Member.Qo(id) - Member.Qr(id))
* /(Member.Uo(id) - Member.Ur(id))
else
if ( Member.istat(id).gt.0 ) then
Member.istat(id)= 5
Member.Uo(id) = Member.UmaxP(id)
Member.Qo(id) = Member.QmaxP(id)
else
Member . istat(id)=-5
Member.Uo(id) = Member.UmaxM(id)
Member.Qo(id) = Member.QmaxM(id)

endif
Member.AK_tan(id)=(Member.Qo(id) - Member.Qr(id))
* /(Member.Uo(id) - Member.Ur(id))
endif
endif
Member.stress(1+id)
* =CalQ_Takeda_TriLiner(id,Element,Member,U)
endif
endif

Q=CalQ_Takeda_TriLiner(id,Element,Member,U)

if( Member.istat(id).gt.0 ) then
if( Member.UmaxP(id).lt.U ) then
Member .UmaxP(id) = U
Member .QmaxP(id) = Q
endif
else
if( Member.UmaxM(id).gt.U ) then
Member .UmaxM(id) = U
Member.QmaxM(id) = Q
endif
endif
return
end

84
85
86

87

88

89

I 90

191

192
193

1 94




OO OO0

@ real*8 function CalQ _Takeda TriLiner

e U Q

real*8 function CalQ_Takeda TriLiner(id,Element,Member,U)
include "submain.h"
record / member_s2_Takeda / Member

record / element_s2 / Element
integer id ! ID
real*8 U !
real*8 Q !
if( iabs(Member.istat(id)).eq.1l) then 1 95
Q=Element.AK_1*U
else if( iabs(Member.istat(id)).eq.2) then I 96
if( Member.istat(id).gt.0 ) then 197
Q=Element.AK_2*(U-Element.U_1) +Element.Q_1
else 198
Q=Element.AK_2*(U+Element.U_1) -Element.Q_1
endif
else if( iabs(Member.istat(id)).eq.3) then 1 99
if( Member.istat(id).gt.0 ) then 1 100
Q=Element.AK_3*(U-Element.U_2) +Element.Q_2
else 1101
Q=Element.AK_3*(U+Element.U_2) -Element.Q_2
endif
else 1 102
Q=Member .AK_tan(id)*(U-Member.Ur(id)) +Member.Qr(id)
endif
CalQ_Takeda_TriLiner=Q 1 103
return
end
©
€ @ SUBROUTINE Initial_Takeda TriLiner
©
© e 1
©
subroutine Initial_Takeda_TriLiner(Element,Member)
include "submain.h"
record / member_s2_Takeda / Member
record / element_s2 / Element
integer i !
Iwrite(75,*%) " Takeda TriLiner initial set on *
G
©
©
if(Element.AK_1.1e.0.0) then
Element.AK_1=1.0 1 104
endif
if(Element.AK_2.1e.0.0) then I 105
Element.AK_2=Element.AK_1
endif
if(Element.Q_2.le.Element.Q_1) then 1 106




Element.Q 2=Element.Q 1

endif
©
©
©
do i=1,2 1107
Member.istat(i) =1 1108
Member.AK_tan(i) = Element.AK_1 1 109
Member .Uo(1) = Element.Q_1/Element.AK_1 1 110
Member.Qo(1) = Element.Q_1 1111
Member .Ur (1) =-Element.Q_1/Element.AK_1 1112
Member.Qr(i) =-Element.Q_1 1 113
Member.UmaxP(i) = Element.Q_1/Element.AK_1 1 114
Member.QmaxP(i) = Element.Q 1 1 115
Member.UmaxM(i) =-Element.Q_1/Element.AK 1 1 116
Member.QmaxM(i) =-Element.Q 1 1117
Member .KoP (i) = Element.AK 1 1118
Member .KoM(i) = Element.AK 1 1 119
end do
Element.U_1=Element.Q_1/Element.AK_1 1120
Element.U_2=(Element.Q 2-Element.Q_1)/Element.AK 2
* +Element.U_1
return
end
v wooo)
2
Initial_Takeda TriLiner()
3 (v w )
4 Cal_Takeda_TriLiner()
5
6
1
tmp
7 1,4,6,8,12
8 -1
9 1011,-1011
10.
11.

-1003




2 2-36
12. 1003
13. 1003,-1003
14.
15
-1011
16. 1011
17. 2,5,11
18. Cal_DirecMax_TriLiner()
19 (Up,Qp) Member _Ur(id) Member.Qr(id)
20. 2,-2
21.
-4

22 1

tmp(3)
23. tmp(3)

2 u2
tmp(3)
24. tmp(3)
2 u2

25. 4
26 1

tmp(3)
27. tmp(3)

2 u2
tmp(3)
28. tmp(3)
2 u2
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29. 5,-5
30

Member _KoM(id)
31. 6
Member .KoP(id)
32. 11,-11
33.
-12

34 12
35.
0.0
36. 3,-3
37.

38. (Up,Qp) Member _Ur(id) Member.Qr(id)

39

40.
41. ul
-1011 1

42. ul -8

43.

44.
45. ul
1011 1
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46. ul 8

0.0
47.

3 1 2 4 56
8 12 1003 1011
3

48.
Member .Uo(id)
iflag=1
iflag=0
49.
Member .Uo(id)
iflag=1
iflag=0

50. 1

51. 1 -1 2

52. 2

53. -2

54. 2 1 3

55. 3

56 -3
57. 4 6 2

58. 4
59 2

Manual of Numerical Algorithms for Behavior of Structural Members SPACE



2 2-39
2
60 -2
2

61. 6

62. 5

63. -5

64. 8 3

65.

66. 3

67. -3

68.

69. 5

70. -5

71. 1011

72. 11
2

73. -11
2

74. 1003 3

75. 3

76. -3

77. 5

78. u2

79. 2
2
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80. -2
2

81. 3

82. 3

83. -3

84. 12

85.

86. 11
2

87. -11
2

88.

89. 5

90. -5

91.

92.

93.

94.

95. CalQ_DirecMax_TriLiner()

2-4

96. 2

97. 2 2 Q

98. -2 2 Q

99. 3

100. 3 3 Q

101. -3 3 Q
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102.

103.
104.

105.
106.

107.

108.
109.
110.
111.
112.
113.
114.
115.
116.
117.
118.
119.
120.

i=1

Element

2-4

CalQ _DirecMax_TriLiner

1.0

ul

i=2

u2
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2.2.5
2
2252 3 3
2.25.1
2252 3
2-6 2.2.5.1
1 AK 1 2 AK 2
3 AK 3 1 Q1
1 istat:1
AK 2

v

—

istat:3
AK 3

istat:1
AK_2

istat:10 istat:2
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istat:1
istat:3
istat:4
2-6
Q.1
10
Q1 1 1
2
Pl 0 Q P1
0 3
3
4
@ Q1 Q P2
‘ du4
Q.1 du4d P2
4 1
1
2 P2 P2 Q 0
3
3
4 du3 P1
A
istat:1
AK_2 <—P1
= st1
P3
istat:10 )
AK 1 istat:4 istat:2
- AK_1

|

istat:5 —%I/
- istat:3

AK 1

2-7

v

AK_3

3 4
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2-7 3 5
3
P3 5 5 0 Q P3
st:0 5 5 0
4 4
P3 2 P3
Q O 2
4 2 5
4 P3
2 5 4 2
1 0
2
4 2 5
2
4
2
P3 st:1 2
P3 Q O P3 4
0 3
4
5
P3 st:1
5 P3 Q O P3 4
0 4
S
5
istat:10 AK_1 Q1 Q Q1
Q1 Q1 1
istat:1 2 AK 2
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P1
P2
istat:2 1 AK 1
PL Q O
P1 1
0 3
Q P2 P2
1
3
istat:3 AK 3 3
u
0O u
4
5 St 0
P3
u 0
5
st 0 P3
istat:4
P1 Q
St 1
P3 2 5
5
Q P2
St 1 P3
2 5 2 5
istat:5 34 AK 1
P3 Q O
P3 St 0 3
1 4

St
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4 0 Q
P3 P3 St
0 3 St 1 4
4
c
c ® SUBROUTINE /S_slip_bilinear_ s 3
c
subroutine S_slip_bilinear_s(Member,Element,vv,vpp)
implicit real*8(A-H,0-2)
include "submain.h"
record / member_s2_slip_bilinear / Member
record / element_s2 / Element
integer i !
dimension w(12) !
dimension vpp(12) !
real*8 du !
real*8 Up !
c
c
if(Member.istat(l).eq.0.and.Member.istat(2).eq.0) then 11
call Initial_S slip_bilinear_s(Element,Member) 12
return
endif
c
c n
do i=1,2 13
dU=vv(7+i)-vv(1+i) !
Up=vpp(7+i)-vpp(1+i) !
call Cal_S slip_bilinear_s(Member.AK_tan(i),Member.istat(i), 14
* Element.AK_1,Element.AK_2,Element.AK_3,Member.P3(i),
* Element.Q_1,dU,Member.stress(i+l),
* Member .QmaxP (i) ,Member.QmaxM(i),Member.P1(i),
* Member .UmaxP (i) ,Member.UmaxM(i),
* Up,Member.P2(1))
end do
return
end
c
c ® SUBROUTINE /Cal_S slip_bilinear_s 3
c
subroutine Cal_S slip_bilinear_s(AK,istat,AK_1,AK 2,AK_3,AK 5,0 1,du,
* P,P1,P2,P3,du3,du4,ug,st)
implicit real*8(A-H,0-2)
c
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AK :

AK 1 o1

AK 3

Q1 o1

du

P1 ristat=1

P2 ristat=1

P3 ist=1 istat=3
du3 :

ug

istat=4

istat
AK_2
AK_5

P

du4
st

2

(Work)

iistat=3 istat=4

OO0 O 0O 0O 0O 0O 0O o606 o0

100 continue

if(istat.eq.10)then
p=AK*du+p
if(du.gt.0)then
if(p.1t.pl) return

istat=1
du2=(p-pl)/AK
AK=AK_2
p=AK*du2+pl
return

else

if(p.gt.-p2)return

istat=1
du2=(p+p2)/AK
AK=AK_2
p=AK*du2-p2
return

endif

elseif(istat.eq.1l)then
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)return

else

if(du.1t.0)return
endif

istat=2
dp=AK*du
AK=AK_1
if(p.gt.pl)then
du3=ug
pl=p

else
dud=-ug
p2=-p
endif
p=AK*du+p
return

istatl0
istatl0 istat=1
istatl0
istatl0 istat=1
istatl
istatl istat=2

(

(

o

o

110

111

112

113

114

115
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c istat?
elseif(istat.eq.2)then
if(p.gt.0)then
p=AK*du+p
if(du.gt.0)then
if(st.eq.0)then
if(p.1t.pl) return
c istat2 istat=1 (
istat=1
du2=(p-pl)/AK
AK=AK_2
p=AK*du2+p1
return
else
if(p.1t.p3)return
C istat2 istat=4 (
st=0
istat=4
du2=(p-p3)/AK
AK=AK_5
p=AK*du2+p3
return
endif
else
if(p.gt.0)return
C istat2 istat=3 (
istat=3
du2=p/AK
AK=AK_3
p=AK*du2
return
endif
C istat2( )
else
p=AK*du+p
if(du.lt.0)then
if(st.eq.0)then
if(p.gt.-p2)return
C istat2 istat=1 (
istat=1
du2=(p+pl)/AK
AK=AK_2
p=AK*du2-p2
return
else
if(p.gt.p3)return
C istat2 istat=4 (
st=0
istat=4
du2=(p-p3)/AK
AK=AK_5
p=AK*du2+p3
return
endif

116

117

118

119

120
121

122

123

124

125

126

127

128
129

Manual of Numerical Algorithms for Behavior of Structural Members

SPACE




2-49

else
if(p.1t.0)return 130
C istat2 istat=3 ( )
istat=3 131
du2=p/AK
AK=AK_3
p=AK*du2
return
endif
endif
C istat3( )
elseif(istat.eq.3)then 132
p=AK*du+p
u=ug+du 133
if(p.gt.0)then
if(du.gt.0)then

if(u.1t.0)return 134
C istat3 istat4( )
istat=4 135
p3=-AK*u+p 136
AK=(p1-p3)/du3 137
p=AK*u+p3 138
return
else
C istat3 istat5( )
st=0 139
istat=5 140
dp=AK*du
AK=AK_1
p=p-dp
p3=p 141
p=AK*du+p
return
endif
else
C istat3
if(du.lt.0)then
if(u.gt.0)return 142
C istat3 istat4
istat=4 143
p3=-AK*u+p 144
AK=(p2+p3)/dud 145
p=AK*u+p3 146
return
else
C istat3 istat5( )
st=0 147
istat=5
dp=AK*du
AK=AK_1
p=p-dp
p3=p 148
p=AK*du+p
return
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endif
endif

elseif(istat.eq.4)then
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)then
if(p.1t.preturn

istat=1
du2=(p-p1)/AK
AK=AK_2
p=AK*du2+p1
return

else

st=1

dp=AK*du
AK_5=AK

AK=AK_1

p=p-dp

p3=p

p=AK*du+p3
du5=-p3/AK_1+ug
if(du5.gt.0)then
istat=2

else

istat=5

endif

return

endif

else
if(du.lt.0)then
if(p.gt.-p2)return

istat=1
du2=(p+p2)/AK
AK=AK_2
p=AK*du2-p2
return

else

st=1

dp=AK*du
AK_5=AK

AK=AK_1

p=p-dp

p3=p

p=AK*du+p3
du5=-p3/AK_1+ug
if(du5.1t.0)then
istat=2

else

istat4

istat4

istat4

istat4

istat4

istat4

149

150
istat=1 ( )
151

istat=2,5 (
152

153

154
155
156

157

158
istat=1 ( )
159

istat=2,5 (
160

161

162
163

164

)

)
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istat=5
endif
return
endif
endif
C istatb
elseif(istat.eq.5)then
u=ug+du
if(p.gt.0)then
p=AK*du+p
if(du.gt.0)then
if(p.1t.p3)return
C istath
if(st.eq.0)then
istat=3
else
istat=4
endif
st=0
du2=(p-p3)/AK
AK=AK_5
p=AK*du2+p3
return
C istats
else
if(p.gt.0)return
C istath
st=0
istat=4
du2=p/AK
du5=du4+u+du2
AK=p2/du5
p=AK*du2
return
endif
C istats
else
p=AK*du+p
if(du.lt.0)then
if(p.gt.p3)return
C istatb
if(st.eq.0)then
istat=3
else
istat=4
endif
st=0
du2=(p-p3)/AK
AK=AK_5
p=AK*du2+p3
return
C istatb
else
if(p.1t.0)return

165

166

167
istat=3/4 (

168
169
170

171

172
istat=4 ( )
173
174

175
176

177
istat=3/4 (

178
179
180

181

182

)
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C istatb istat=4 ( )
st=0 183
istat=4 184
du2=p/AK
du5=du3-u+du2 185
AK=p1/du5 186
p=AK*du2
return
endif
endif
end if
end
©
€ ® SUBROUTINE /Initial_S _slip_bilinear_s
3
€
subroutine Initial_S_slip_bilinear_s(Element,Member)
implicit real*8(A-H,0-2)
include "submain.h"
record / member_s2_slip_bilinear / Member
record / element_s2 / Element
integer i !
do i=1,2 187
Member.istat(i) = 10 188
Member.AK_tan(i) = Element.AK 1 189
Member.QmaxP(i) = Element.Q 1 190
Member.QmaxM(i) = Element.Q 1 191
Member.stress(i+l) = 0 192
Member.UmaxP(i) = Element.Q_1/Element.AK_1 193
Member.UmaxM(i) = Element.Q_1/Element.AK_1 194
Member.P2(1) =0 195
end do
return
end
\ w
2
Initial_S_slip_bilinear_s()
3 \Y w
Cal_S_slip_bilinear_s()
istat 10
du>0 pl
pl 1
8 du<0 -p3
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10
11

12

13

14

15

16
17

18

19

20

21

22

23

24
25

st

istat 1

istat 2
0
4
0
0

-p3 1
0 du>0
0 du<0
0 du<0
du>0
pl
du3
pl
-p2
du4
p2
du>0
pl
du>0
pl
du>0
p3
du>0
p3
du<0
du<0
3
du<0 st O
-p2

st

st

st

st
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26

27

28

29
30

31

32

33

34

35

36
37

38

39

40

41

42

43

44
45

46

47

p3

p3

du>0

du>0

istat 3

st O
1
st 1
st 1
st O
du>0
du>0
p3
du3,pl
p3
du<0
p3
du<0
du<0
p3
-du4, -p2
p3
du>0

st

st
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48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66
67

68

p3

du5

du5

p3

du5

du5

istat 4

pl

pl

AK_5

p3

AK_4

du5>0

du5<0

AK_5

p3

AK_4

du5<0

du5>0

istat 5

p3

p3

p3

du>0

du>0

du<0

du<0

du<0

du>0

du>0

du>0
st O

st

st

du5

du5

Manual of Numerical Algorithms for Behavior of Structural Members

SPACE



2-56

69

70

71

72

73

74
75

76

77

78

79

80

81

82

83

84
85

86

87

88

89

90
91

p3
st O
0
0
4
-du4
du5
du5
AK
p3
p3
p3
st O
0
0
4
du3
du5
du5
AK
1=v 2=wW
Member.QmaxP(i)
Member.QmaxM(i)

AK_5

AK_5

10

du>0

du<0

du<0

du<0

du<0

du<0

du>0

du>0

st

st

st

st

st

-du4,-p2

du3,pl

Menber
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92
93  Member.UmaxP(i) 1
94  Member.UmaxM(i) 1
95 st
2.8 S 2.2.5.2
3 S
1 AK_1 2 AK_2
3 AK_3 4 AK_4
3] AK_5
1 +Q 1 2 +Q 2
3 +Q 3
1 AK 4
AK_ 3 istat:7
Q3 istat:2
Q2 p-oooeee
AK_2 istat:l
Q13 du3 P10
AK_ 1 istat:10 AK_1 du3 P1
istat:3
AK_SiSty'
/ :
2-8 3 S
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istat:10 istat:3
istat:1  istat:2 istat:7 istat:4
istatb:
2-8
10
10 Q1 Q Q1
Q1
10 Q1 1
1 Q2 Q Q.2
3 P1
PL Q O 3
P1
1 1 0
4 4
6 6
5
Q Q1
Q P3
Q P4 3
Q P11 5
du4, Q.1
du4, P3 du4, P4 du4, P11
2-8 Q.1
1 1
Q Q.2 Q.2 2
2 3
P4 0 Q P4
3 P4 2
0 4
5
6
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6 1
2 2 7
4 5 2-9
A
istat7 < P10
Q3
istat2
Q2 -y
Q1
istat3
istat10
istat6 Z/
|- istat4
\ P6
st:0
2-9 4 5
2-9 4
4
P6 st:0
0 Q P6
5
6 5
3 P6 st:1
3 P6 Q O P6
5 0 4
2-9 5
2 1 0
2
5
6 2
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1
5
3
P6 st:l 3 P6 Q O
P6 5
4
2
5
6
P6 st:1 6 P6 Q O
P6 5
5
3 S
7
istat:10 AK_1 Q.1 Q1
Q1 Q1 1
istat:1 AK 2
Q2 Q
3
P1
Q
Q.2
3
P3
istat:2 AK 3
Q3 Q
3
P2
Q
Q3
3
P4
istat:7 AK 4
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P10
3
istat:3 1 2 7
QO
P2 P10
Q P11
P3 P4
istat:4
st
5
6
P6
istat:5
P10 Q
st 1
6
P3 Q
P6
istat:6 4 5

P6 Q O
P6

3
P11
AK 1
P1 Q O P2 Q 0 P10
P1
2 7
4
P3 0 Q P4 0
1 2 7
0 4
AK 4
5
6
P6
st
P1L Q P2 Q
P6 3
Q
P11
st 1
6
AK 4
st:0 4
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st:l 5

0 Q P6
P6 st:0 4
st:l 5

®  SUBROUTINE /S_slip_woodpanel

e 3 3

O 0O 0O 0O 0

subroutine S_slip_woodpanel (Member,Element,vv,vpp)
implicit real*8(A-H,0-2)

include "submain.h"

record / member_woodpanel / Member

record / element_s2 / Element

integer i !

dimension w(12) !

dimension vpp(12) !

real*8 du !

real*8 Up !

open(99, file="check_file.txt")

if(Member.istat(l).eq.0.and.Member.istat(2).eq.0) then
call initial_S_slip_woodpanel (Element,Member)

c return
endif

c n
do i=1,2
dU=vv(7+i)-vv(1+i) !
Up=vpp(7+i)-vpp(1+i) !
call Cal_S_slip_woodpanel (Member.AK_tan(i),Member.istat(i),
Element.AK_1,Element.AK 2, Element.AK 3,
Element.U_1, Element.dm4,
Element.Q_1, Element.Q 2,Element.U_2,
dU, Member.stress(i+l),
Member .QmaxP (i) ,Member.QmaxM(i),
Member .UmaxP (i) ,Member .UmaxM(i),
Up,Member.P1(i),
Member.P2(i),Member.P3(i),
Member .P4(i),Member.P5(i),
Member.P6(i) ,Member.P7(i))

LS T S I I SR

end do
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return
end

O 0O 0O 0O 0

® SUBROUTINE /Cal_S slip_woodpanell

e 3 3

subroutine Cal_S slip_woodpanel (AK, istat,AK_1,AK 2,AK _3,AK_4,AK 5,
*

implicit real*8(A-H,0-2)

Q1,Q.2,Q 3,du,P,p10,pll,du3,du4,ug,st,

AK_6,P1,P2,P3,P4,P6)

O 0O 0O 0 0

AK
istat
st

(Work)

100

C

continue

if (istat.eq.10)then
p=AK*du+p
if(du.gt.0)then
if(p.1t.pl) return

istat=1
du2=(p-p1)/AK
AK=AK_2
p=AK*du2+p1l

return

else
if(p.gt.-p3)return

istat=1
du2=(p+p3)/AK
AK=AK_2
p=AK*du2-p3
return

endif

elseif(istat.eq.1)then
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)then
if(p.1t.p2)return

istat=2
du2=(p-p2)/AK
AK=AK_3
p=AK*du2+p2
return

else

istat=3
dp=AK*du

istatl0

istatl0

istatl0

istatl

istatl

istatl

istat=1

istat=1

istat=2

istat=3
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AK=AK_1
p=p-dp
du3=ug
pl=p
p=AK*du+p
return
endif
else
if(du.lt.0)then
if(p.gt.-p4)return
C istatl istat=2
istat=2
du2=(p+p4)/AK
AK=AK_3
p=AK*du2-p4
return
else
c istatl istat=3
istat=3
dp=AK*du
AK=AK_1
p=p-dp
dud=-ug
p3=-p
p=AK*du+p
return
endif
endif
C istat2
elseif(istat.eq.2)then 17
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)then
if(p.1t.pl0)return
c istat2 istat=7
istat=7
du2=(p-p10)/AK
AK=AK_4
p=AK*du2+p10
p2=Q_3
return
else
c istat2 istat=3
istat=3
dp=AK*du
AK=AK_1
p=p-dp
du3=ug
p2=p
p=AK*du+p
return
endif
else
if(du.lt.0)then
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if(p.gt.-pll)return
c istat? istat=7
istat=7
du2=(p+p11)/AK
AK=AK_4
p=AK*du2-p11
p4=Q 3
return
else
c istat? istat=3
istat=3
dp=AK*du
AK=AK_1
p=p-dp
dud=-ug
p4=-p
p=AK*du+p
return
endif
endif
c istat?
elseif(istat.eq.7)then 18
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)return
c istat? istat=3
istat=3
dp=AK*du
AK=AK_1
p=p-dp
du3=ug
p10=p
p=AK*du+p
return
else
if(du.lt.0)return
c istat? istat=3
istat=3
dp=AK*du
AK=AK_1
p=p-dp
dud=-ug
pll=-p
p=AK*du+p
return
endif
c istat3
elseif(istat.eq.3)then 19
if(p.gt.0)then
p=AK*du+p
if(du.gt.0)then
if(st.eq.0)then
if(p2.eq.Q_2)then
if(p.1t.pl)return
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C istat3 istat=1
istat=1
du2=(p-p1)/AK
AK=AK_2
p=AK*du2+p1l
return
elseif(p2.eq.Q_3)then
if(p.1t.pl0)return
c istat3 istat=7
istat=7
du2=(p-p10)/AK
AK=AK_4
p=AK*du2+p10
return
else
if(p.1t.p2)return
c istat3 istat=2
istat=2
du2=(p-p2)/AK
AK=AK_3
p=AK*du2+p2
return
endif
else
if(p.1t.p6)return
C istat3 istat=5
st=0
istat=5
du2=(p-p6)/AK
AK=AK_6
p=AK*du2+p6
return
endif
else
if(p.gt.0)return
c istat3 istat=4
istat=4
du2=p/AK
AK=AK_5
p=AK*du2
return
endif
else
p=AK*du+p
if(du.lt.0)then
if(st.eq.0)then
if(p4.eq.Q_2)then
if(p.gt.-p3)return
C istat3 istat=1
istat=1
du2=(p+p3)/AK
AK=AK_2
p=AK*du2-p3
return
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elseif(p4.eq.Q_3)then
if(p.gt.-pll)return
c istat3 istat=7
istat=7
du2=(p+p11)/AK
AK=AK_4
p=AK*du2-p11
return
else
if(p.gt.-p4)return
c istat3 istat=2
istat=2
du2=(p+p4)/AK
AK=AK_3
p=AK*du2-p4
return
endif
else
if(p.gt.p6)return
c istat3 istat=5
st=0
istat=5
du2=(p-p6)/AK
AK=AK_6
p=AK*du2+p6
return
endif
else
if(p.1t.0)return
c istat3 istat=4
istat=4
du2=p/AK
AK=AK_5
p=AK*du2
return
endif
endif
c istat4
elseif(istat.eq.4)then 110
p=AK*du+p
u=ug+du
if(p.gt.0)then
if(du.gt.0)then
if(u.1t.0)return
c istat4 istat=5
istat=5
du2=du+ug
p5=-AK*u+p
if(p2.eq.Q_2)then
AK=(p1-p5)/du3
elseif(p2.eq.Q_3)then
AK=(p10-p5)/du3
else
AK=(p2-p5)/du3
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endif
p=AK*du2+p5
return
else
C istat4 istat6( )
St=0
istat=6
dp=AK*du
AK=AK_1
p=p-dp
p6=p
p=AK*du+p
return
endif
else
if(du.lt.0)then
if(u.gt.0)return
c istat4 istat=5
istat=5
du2=du+ug
p5=-AK*U+p
if(pd.eq.Q_2)then
AK=(p3+p5)/dud
elseif(p4.eq.Q_3)then
AK=(p11+p5)/dud
else
AK=(p4+p5)/dud
endif
p=AK*du2+p5
return
else
c istat4 istat=6
st=0
istat=6
dp=AK*du
AK=AK_1
p=p-dp
p6=p
p=AK*du+p
return
endif
endif
c istat5
elseif(istat.eq.5)then 111
p=AK*du+p
if(p.gt.0)then
if(du.gt.0)then
if(p2.eq.Q_2)then
if(p.1t.pl)return
c istatb istat=1
istat=1
du2=(p-p1)/AK
AK=AK_2
p=AK*du2+pl
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return
elseif(p2.eq.Q_3)then
if(p.1t.pl0)return
C istat3 istat=7
istat=7
du2=(p-p10)/AK
AK=AK_4
p=AK*du2+p10
return
else
if(p.1t.p2)return
c istatb istat=2
istat=2
du2=(p-p2)/AK
AK=AK_3
p=AK*du2+p2
return
endif
else
c istath istat=3,6
st=1
dp=AK*du
AK_6=AK
AK=AK_1
p=p-dp
p6=p
p=AK*du+p6
du5=-p6/AK_1+ug
if(du5.gt.0)then
istat=3
else
istat=6
endif
return
endif
c istats
else
if(du.lt.0)then
if(pd.eq.Q_2)then
if(p.gt.-p3)return
c istatb istat=1
istat=1
du2=(p+p3)/AK
AK=AK_2
p=AK*du2-p3
return
elseif(p4.eq.Q_3)then
if(p.gt.-pll)return
C istath istat=7
istat=7
du2=(p+p11)/AK
AK=AK_4
p=AK*du2-p11
return
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else
if(p.gt.-p4)return
c istatb istat=2
istat=2
du2=(p+p4)/AK
AK=AK_3
p=AK*du2-p4
return
endif
c istatb istat=3,6
else
st=1
dp=AK*du
AK_6=AK
AK=AK_1
p=p-dp
p6=p
p=AK*du+p6
du5=-p6/AK_1+ug
if(du5.1t.0)then
istat=3
else
istat=6
endif
return
endif
endif
C istat6
elseif(istat.eq.6)then 112
if(p.gt.0)then
p=AK*du+p
u=ug+du
if(du.gt.0)then
if(p.1t.p6)return
c istat6 istat=4/5
if(st.eq.0)then
istat=4
du2=(p-p6)/AK
AK=AK_4
else
istat=5
du2=(p-p6)/AK
AK=AK_6
endif
st=0
p=AK*du2+p6
return
else
if(p-gt.0)return
C istat6 istat=5
st=0
istat=5
du2=p/AK
du5=du4+u+du2
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if(pd.eq.Q_2)then
AK=p3/du5
elseif(p4.eq.Q_3)then
AK=p11/du5
else
AK=p4/du5
endif
p=AK*du2
return
endif

C istat6
else
p=AK*du+p
u=ug+du
if(du.lt.0)then
if(p.gt.p6)return

c istat6 istat=4/5
if(st.eq.0)then
istat=4
du2=(p-p6)/AK
AK=AK_5
else
istat=5
du2=(p-p6)/AK
AK=AK_6
endif
st=0
p=AK*du2+p6
return
else
if(p.1t.0)return

c istat6 istat=5
st=0
istat=5
du2=p/AK
du5=du3-u-du2
if(p2.eq.Q_2)then
AK=p1/du5
elseif(p2.eq.Q_3)then
AK=p10/du5
else
AK=p2/du5
endif
p=AK*du2
return
endif
endif

endif
end

(@]

@  SUBROUTINE /Initial_S_slip_woodpanel
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c e 3

subroutine Initial_S_slip_woodpanel (Element,Member)
implicit real*8(A-H,0-2)

include "submain.h"

record / member_woodpanel / Member

record / element_s2 / Element
integer i !
do i=1,2 113
Member . istat(i) =10 114
Member.AK_tan(i) = Element.AK_1 115
Member .QmaxP (i) = Element.U_2 116
Member .QmaxM(i) = Element.U_2 117
Member.stress(i+l) =0 118
Member .UmaxP (i) = Element.Q_1/Element.AK_1 119
Member .UmaxM(i) = Element.Q_1/Element.AK_1 120
Member .P1(1) =0 121
Member .P3(1) = Element.Q_1 122
Member .P4(1) = Element.Q_2 123
Member .P5(1) = Element.Q_1 124
Member .P6(1) = Element.Q_2 125
end do
return
end

1 \Y w

2 initial_

S_slip_woodpanel ()

3 Y w

4 Cal_ S_slip_woodpanel ()
5 istat 10

6 istat 1

7 istat 2

8 istat 7

9 istat 3

10 istat 4

11 istat 5

12 istat 6

13 1=v 2=w Menber
14 10

15

16 Member.QmaxP(i) 3

17 Member.QmaxM(i) 3

Manual of Numerical Algorithms for Behavior of Structural Members SPACE




2-73

18
19
20
21
22
23
24
25

Member.UmaxP(i)
Member.UmaxM(i)
st

Member. P3(i)
Member. P4(i)
Member. P5(i)
Member. P6(i)

N P N -
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